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Ee 0 1 2 3 4
1.0 1.000 {1,005 (1,010 | 1,015 | 1,020
1.1 1.049 11,054 {1,058 | 1,063 | 1,068
1.2 1,095 (1,100 | 1,105 | 1,109 | 1,114
1.3 1,140 | 1,145 | 1,149 | 1,153 | 1,158
1.4 1,183 | 1,187 | 1.192 | 1,196 | 1,200
1.5 1.225 (1,229 [ 1,233 | 1,237 | 1,241
1.6 1.265 (1,269 | 1,273 | 1.277 | 1,281
1.7 1,304 {1,308 | 1,311 | 1,315 | 1.319
1.8 1.342 (1,345 |1.349 | 1.353 | 1.356
1.9 1.378 {1,382 | 1.386 | 1.389 | 1.393
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® +V1.52 + V0.000142
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11. ab-6a+5b—48 = 02 V=S A g, b 9] 482 4= (2,
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12. 16 — X2 + 4xy — 4y? = Q15 EF)s51H?

D (x+2y-4)(—x+2y+4) @ (x-2y+4)?
® (x—2y+4)(x+2y-4) @ (x=2y+4)(-x+2y+4)

® (—x=-2y+4)(x+2y+4)
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